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from gmpy2 import *

import sys

import time

import struct

from Crypto.Util import number

from common_math import xgcd, modular_mul_inverse
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flag

int('0x'+FLAG.encode("'hex'), 16)

e = 65537

p = number.getPrime(2048)

g = number.getPrime(2048)

r = 663111019425944540514080507309 # number.getPrime(100)
phi = (p-1)*(q-1)

d = modular_mul_inverse(e, phi)

k = (p-r)*d

enc = powmod(flag, e, p*q)

print "n", p*q
print "e", e
print "k", k

print "enc", enc

#n 76478971013569912006673955882809863357701330625342155343084719590803424436278342639968188917271192979356
#e 65537

#k 11376230879464757138290711299984908778464289005173308608189545435463525777268265977729128994228398091834
#enc 519467713751094904598159022987103691511259274774209441519584888564069062035542644790087060987328959901

import libnum

import gmpy2
enc=5194677137510949045981590229871036915112592747742094415195848885640690620355426447900870609873289599017
n=764789710135699120066739558828098633577013306253421553430847195908034244362783426399681889172711929793563
k=113762308794647571382907112999849087784642890051733086081895454354635257772682659777291289942283980918340

e=65537
r=663111019425944540514080507309
aa=pow(2,e*k+r-1,n)-1
p=1libnum.gcd(aa,n)

q=n/p

phi_n=(p-1)*(q-1)
d=gmpy2.invert(e,phi_n)
m=pow(enc,d,n)

print libnum.n2s(m)
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